155(}d

Based on ENSDF from Oct 2022, and mass evaluation from 2020
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Z =64

1273.054 ( 0.001) MeV
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N =91

adopted link

ENSDF link

J+ J- J-other T1/2
I 0.000 3/2-1 1 STABLE
| 0.060 5/2-1 2 0.196 NS 15
5/2+ | | 3 6.50 NS 4
3/2+ | | 4 1.16 NS 1
9/2+ | | 5
7/2+ | | 6
| 0.121 11/2- 7 31.97 MS 27
| 0.146 7/2-1 8 0.102 NS 11
13/2+| | 9
11/2+] | 10
| 0.252 9/2-1 11 58 PS 6
5/2+ | | 12
3/2+ | | 13
| 0.283 13/2- 14
| 0.287 3/2-| 15
| 0.321 5/2-1 16
5/2+ | | 17
7/2+ | | 18
1/2+ | | 19
| 0.392 11/2- 20 23 PS 2
| 0.394 7/2-1 21
7/2+ | | 22
17/2+| | 23
3/2+ | | 24
| 0.451 3/2-1 25
| 0.451 1/2-1 26
15/2+]| | 27
| 0.454 5/2-| 28
| 0.464 15/2- 29
| | 0.480 30
| | 0.486 (9/2-) 31
5/2+ | | 32
| 0.534 13/2- 33 15 PS 2
| | 0.553 (7/2)- 34
| 0.559 1/2-1 35
| 0.581 5/2-1 36
| 0.592 3/2-| 37


http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=155Gd
https://www.nndc.bnl.gov/ensdf/
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.950
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JO

(9/2-)
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(13/2)+
(6/2)+

J1i
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(7/2-)
1/2+,3/2+

(5/2-)
1/2-,3/2-

(7/2-)
JO+2

14 PS +16-6

5.8 PS 11
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.364
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.456
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(13/2+)

1/2+,3/2+
3/2-,5/2,7/2

3/2-,5/2,7/2

(1/2-,3/2-)
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(6/2)+
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1/2(+),3/2(+)
3/2-,5/2,7/2-
3/2,5/2,7/2+

5/2,7/2+

1/2+,3/2+

1/2+,3/2+

1/2+,3/2+,5/2+

105 2.4 PS 4
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1.679
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.982
.995
.017
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.241
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.329

.344

.351

.429
.456

.496
.558

.579
.596
.645
.655
.689

.728
.743
.753

757
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.768
.814
.819
.824
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1/2,3/2,5/2
JO+6

1/2,3/2,5/2

J1+6
J2+6

1/2,3/2,5/2
1/2,3/2,5/2

1/2-,3/2,5/2

1/2,3/2,5/2

1/2,3/2,5/2
1/2,3/2,5/2
(3/2+),5/2

1/2,3/2,5/2

1/2,3/2,5/2
1/2,3/2,5/2
J2+8

1/2-,3/2,5/2
J1+8
1/2,3/2,5/2
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3.015

3.506

S-p = 7.621 (
S-n =  6.435 (
S-2p = 14.088 (
S-2n = 15.330 (
S-alpha= -0.081 (
S+p = -5.310
S+n = -8.536
S+2p = -11.932
S+2n = -14.896
S+alpha = 0.478
gap p = 2.311
gap n = -2.101
gap 2p = 2.156

AN~~~

~

| | 2.854 (3/2+),5/2 220
| | 2.865 1/2-,3/2,5/2 221
| | 2.872 1/2,3/2,5/2 222
| .884 33/2- 223
I .978 29/2- 224
| | 3.011 1/2,3/2,5/2 225
35/2+| | 226
| .065 35/2- 227
| | 3.082 228
| | 3.123 1/2-,3/2,5/2 229
| | 3.199 1/2,3/2,5/2 230
| 274 31/2- 231
I | 3.276 (33/2-) 232
| | 3.305 1/2,3/2,5/2 233
| .380 37/2- 234
41/2+| | 235
| .579 33/2- 236
| .703 39/2- 237
39/2+| | 238
| .039 41/2- 239
45/2+| | 240
| .380 43/2- 241
43/2+| | 242
| .735 45/2- 243
49/2+| | 244
47/2+| | 245
| | 5.829 (53/2+) 246
| | 6.241 (561/2+) 247
.001)--- -- - -
1/2+ | | 248
002) —=—==——=—mmmmmmm -
001 ) — = o
001)--- -- - --
001) —=—==————mmmm -
001 ) — = o
0.004)
0.001)
0.005)
0.001)
0.002)
0.004)
0.002)
0.005)



gap 2n = 0.434 ( 0.002)
gap alpha = 0.397 ( 0.002)



